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Assignment
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Find the value that completes the square and then rewrite as a perfect square.
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(ZYh) = 1LY

Put each equation into Vertex Form by completing the square.

4) v - 10v-10=0
(Vl‘\D\Hz“o) -25-10=0
N = 9)*-25=0}

6) 9b* -18b-27=0
q(pi-20+\V— q -21\=0
@l -1y = 5u=0

Solve each equation by completing the square.

8) k* —2k-100=0

G __l\4+\) \-log =
(e=\)*=1Dl= -/

10) k> - 10k+59 = 0

) p —18p+30 0

(p*-13px3N-B\*¥d0 =0
P -5 =D\

7) 3x —12x 26=0

2(x*-0x +) —12-20=0

(k2-1)k +26)25+51 ( o
(e-oy + 24 =0 = e
12) n*—6n-72=0

o= oz 13]

(nl—unm -9-12=0 3x4
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14) —b% +22b+ 131 =-2b2 11
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L(X'Z)" 2,9, = D\

(K-) _|0\ 9) > -10a+85=0
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(0*-100-+25) -25+835=0
(0-5Y+0u0=0+ (A-9)"=-uD
1) >~ 2a+78=0 0-5 =+ 2015
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13) +8n+92=10n > N"—-2N+942

(pr=2n+D -1 +942
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\
= 4
15) v* + 18v— 81 = 6v n-\ Al

%{Q/ \{I\Q\C \n =\ m

16) n ;63:114;1;\0 —l4n+Uud=0 7) 4b=-59 - = O —rL—\‘g*r‘a“t“D
(N-HNn+43)~H491U5= m O Ao+ -8 +349=0 2
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N-1==%x ohe?
18) 94* —28a=8a2 -95-10a
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0+2 =2 DD
o= 2= i(53 )

19) 18p® — 16p =56 + 10p?
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(a-0" =\
o-\ = j\;\ﬁ_T‘
= | L

4. b* +2210 t 1H2=0
(0" 4220+ V) - 12\ +42=0
(o+\) +21=0
(b + 1) = -2
b = x L2
b= -l = L

5. \E 4y -8V =0
(V* +\2V +39) ~dU -g\=0

(v+uy — Wi=0

(V) =\
ViU = = (v
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\&. 0* =180~ +45=0
(0—190. +80)- 8\ +G5=0
(0-9)= \4=0 |
(a-4)" =11
a-9a = £ A
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\4. 8p1f\Up¥5U=D
8<P2__—LP¢\)—-8‘\'5U:O
3(P—N"+H3=0

a(p—\)" = —ud

(p—N* =~
p-\ = £ U
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